VARIABLES: ALGEBRAIC EXPRESSIONS IT (E-2) Name:
CHALLENGE '

217)

Bz + (—4x)+ Bz + (—14) +Tz) = (5+(=5H)) — 12 =

218)

(0= (—1)) + (18 = 3 — (=3)) + 8z x Oz = (22) =

219)

(18 + (—20)) — (7Tz x 0x + (—48z)) + ((6x — (—1) x 5x)) =

220)

(0% (=8z) +(=3))) x Ix (=9) +(—9)) ~ (2x + 3) =

221)

20 — 6 — ((9x+7) —4x — 7) 4+ 6) + (—bx) =

222)

21 + (=7) x 0x x bz = ((((8z — 9z) + (—3x)))) + 8 =

223)

12 +4 410z 4+ (—92) + (((6 x (—1)) + (=9))) — (=5z) =

224)

((6x — 97) + (=3x))+((0z x (—=6) + (—4)) x (6 X (—=1x))) =

Mathematics: Variables - Level 3 - Expressions - Set 2 29


https://www.workulum.com

